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LABOUR WELFARE AND INDUSTRIAL RELATIONS
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  Match the following :
List - I List - II

(a) Outsourcing (i)  Achievinglarge cost savings by eliminating unneeded
activities and consolidating work.

(b) Open-book management (ii) Broad based approach for achieving high levels of

performance.

(c) Total Quality management (iii) Sharing financial and performance information with
employees.

(d) Reengineering (iv) Contracting out of activities that were previously

performed in-house.

(1) @) @) () @)
2) Gv) @@ @) (i)
(@) (v) (i) @) @)
4 @ @@ @i (@)
2. According to classical theorists, the four pillars of organising are :

(1) Division of labour, scalar and functional processes, structures and span of control.

(2) Division of labour, identity, structures and cooperation.
(3) Identity, structures, scalar chain and span of control.
(4) Structures, scalar chain, span of control and specialisation.
3.  Who was the first Indian to become the President of International Labour Conference ?
(1) Babu Jagjiwan Ram (2)  Mr. Atul Chatterjee
(3) Dr. Nagendra Singh (4) Mr. Ravindra Verma
4.  Which of the following regional groups in the internationalisation scenario is having regional

associations of employers and employees as well as institutions governing their
relationships ?

(1) South Asian Association of Regional Co-operation (SAARC).
(2) Brazil, Russia, India, China, South Africa (BRICS).

(3) European Union (EU).

(4) Organisation of the Petroleum Exporting Countries (OPEC).
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e : 39 Y- H UeER (75) dg-fased ™ U § 1 U U % | (2) 3w 1 |t yvd Iifamd 2

1. fr=fafea w1 gafaa =1 :

Tt - 1 T - 11

(a) ST (i) TETI® wRwAM TR FE H Wefed W IR AN
T YT HA |

(b)  SATA-TF T (i) T FRA % 3o WR S W4 F o a0 =0T €9 4§
JTHTRA YN |

(c) THaa@ T yawem (iii) FHATE & WY foxdia R & froaea deet g &
SAR-9T |

CVRESIERIEY] (iv) 3T &M &l Sk W <A1 e foaed g § e &
3T TR ST 9 |

@@ () (o) (d)

1) @) @v) @) (@)

2 @Gv) (@) @) (i)

3) (v) (i) @) ()

4) @) @) (@) (iv)

2. wE fagiaeil & SAER, TeH & IR W ¥
(1) 9 faueH, st AR FEfEs Jihar, A1 AR FEE o1 fawr |
2) oM favsH, ve=m, S SR wEan |
(3) UM, HTEHI, ®wHdGd 3R i 6 fowr |
(4) FE, wHEegd, FEE # fawr e faea

3. ITOUST 99 G & T8 S dTel Ugel WA hid 9 ?
(1) 99 STrSiter M (2) &t sga =St
(3) = 7= fo' (4) o W= amt

4. UEFE & IRgvd § fefafad 8 9«1 1 & g fee IR s & wyg-wmy 3796
Gl o1 T I AT G & &g o | § 2
(1) =faror ofimr asita gedm |@ied (Hrh) |
(2) TSI, ®F, 9Rd, =, a0 sThten (foed) |
3) T g (39) |

(4) UIferam frafaes <ul o1 |e (3TUH) |
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Sensitivity training is usually provided to :
(a) Individual employee.

(b)  Small group of 10-12 people.

(c) Large group at organisational level.

(d) The employees for increased awareness of their own behaviour and how others perceive
them.

Which of the following is correct ?
(1) (a), (b) and (d) are correct. (2) (b) and (c) are correct.

(3) (b) and (d) are correct. (4) All (a), (b), (c) and (d) are correct.

Assertion (A) : Total Quality Management aims at delighting customers, both external and
internal, on a continuous basis.

Reason (R) : Quality process involves the understanding of who the customers are, what
are their needs and how these needs can be satisfied.

Both (A) and (R) are wrong.

)

(2) (A) is wrong and (R) is correct.
) Both (A) and (R) are correct, but (R) does not explain (A).
)

Both (A) and (R) are correct and (R) rightly explains (A).

Which among the following can become a member of I.L.O. ?

(1) Largest Political Party of a Country
(2) A Country

(3) A Trade Union

(4) Employer’s Federation

The Chartist Movement was started in Great Britain during :

(1)  1820s (2) 1830s
(3) 1840s (4) 1850s
o-sss [ HIINHINI ;




. qawnfear gfieT AR W fen S R

(a) Afodw HHEAR
(b) 10-12 Tl < BIE Y =l
(c) HTed & &R R I 8

(d) FHARE HI 3T T % FEER 3R T AN 3= Hdl T &, 39 Fa8 § AT SITEh oM
% ferg

frafafea d a = adt €2
1) (a), (b) 3R (d) T T 2) (b) 3R () TE T
(3) (b) 3R (d) W& T (4) @ (a), (b), () 3R (d) T T

. ATIRYT (A) : I TTUTE YA 1 39 SRl SR SN Sl YRR o UTEeh! ! TR §9 |

A FHA L |
ek (R) : TUrE Uik B A€ WS IMHE ST § fF A Uew ¥, ST oTed 1 § SR

fh¥ TR 7 &Ll &l R fohal ST Hehal |
(1) (A) 3R (R) ST Terd €1
2) (A) 7T € IR (R) §&l €|
(3) (A) 3R (R) S W& &, AT (R), (A) FT Tl A7 T 2 |
) (A) R (R) IFT W& € 3R (R), (A) HT W = T

1

(4

. frefafes § @ $F Ao 99 91T (STE.TA.31.) &1 95 8 ghal © 2

(1) TwE 30 1 ga9 T YHia® A
(2) IR

(3) IS WG W

(4) T "=

. TR ST U fored H sl STREY gt o1 ?

(1) efiwei |et =1 d9U g9 (2) SelEel Tat w1 A TwH
(3) SEdl Wt w1 dieET e (4) TSl G 1 B TR
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9. Assertion (A) : Resistance to change is the ability to avoid what one does not want from
the environment/is a behaviour designed to discredit, delay or prevent the
implementation of a change.

Reason (R) : According to Newton’s third law of motion “to every action there is an
equal and opposite reaction”. Resistance to change, is therefore, bound to
be there.

Real change will be effective only when Driving Forces > Restraining Forces.

Codes :

(1) (A) and (R) both are not correct.

) (A) is right and (R) is wrong.

(3) (A) and (R) both are correct and (R) explains (A).

(4) (A) and (R) both are correct and (R) does not explain (A).

10. Which of the following is a general statement that guides or channels thinking in decision -

making ?

(1) Strategy (2) Policy (3) Rule (4) Procedure

11. “Labour legislation regards the individual as a worker, whereas social legislation considers

him primarily as a citizen.” Who among the following made this distinction ?

(1) Edwill E. Witle (2) John D. Hogan (3) Jeremy Bentham (4) Francis A.J. lanni

12.  Which of the following is not a publication of I.L.O. ?

(1) International Labour Review (2) Shram Ki Duniya

(3) International Labour Statistics  (4) Indian Labour Journal

13. Which of the following explanations refers to “Problem Clinic” method of Training ?

(1) Toanalyse performance in simulated exercise to reveal individual and/or group training

needs.

(2) To self evaluate and know what additional knowledge, skill or insight is needed.

(3) To meet and talk informally with people for finding clues to training needs.

(4) Toarrange meetings of a homogeneous group to discuss a common problem and develop

a solution.

14. In a way Alderfer’s ERG Theory is an extension of Maslow’s Theory. Alderfer suggested

three categories of needs rather than five. The needs suggested by Alderfer are :

(1) Emotion, Rationality, Growth (2) Efficacy, Reasoning, Giving

(3) Existence, Relatedness, Growth (4) Exclusion, Relevance, Giving

ossu [ ORI
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10.

11.

12.

13.

14.

AURAT (A) :  TREds w1 gfade foreht #1 o Argar § 9@ o araeRo @ s & =med € SHH
IRER T §/98 FOER ¢ fTHH1 39 IRads & wHEi-aaq &l 9gA™ &1,
forafisra e =1 yiavy e B

e (R) : 2 I T & IR FEm % A7ER s TR 6t 9um &R fawdia wfafswmen
Bt 21" o7 ufked 1 gfaly g ag B
rfaes IREds i ISR BT STd U 9 > RS 9 |

1) (A) 3R (R) T 9t & £

2) (A) ¥ ® SR (R) T g

3)  (A) 3R (R) IHI T T R (R), (A) FI TEI AT HT B |

4) (A) 3R (R) TH TE § 3R (R), (A) FT T ATEAT & FLT 2|

frefafed § & =0 T 9me woF ® S ol § | anfee @ faen o w5 22
(1) ToHIfd (2) ifa (3) frH 4) wrEfafy

“ g e foredt Ao 1 TR AT ©, STelfeh AT faem 38 qeia: T Ais aear e’ | a8
ae frafafeg o 9 fees saman?

(1) TEfaas faea (2) wHEgm (3) S dem (4) TR TS, 33T

frefefaa & o sT=aRiseia 99 G &1 YheH 7El © 2
(1) zTmd wer & (2) g9 = g

(3) EEHA WeR wfefea (4) 3fea deR SHa

frafafed & @ @1 @ samen ufnem & ¢ ey faafte '’ ggfa i fafafde w272

(1) Safaass R/ THE I SEdl sl 9 @ & fau Tefud v § & foamea &
fergetwon|

(2) TIE AR T SR I8 ST 5 g ifafiad 9, SR a1 sTgfe a1t wed 2 |

(3) el sTevFR@eT % IR § YF W HH & A€ A 9 STHdEiie €9 9 i iR e
EZGIN

(4) I FuEne W fgER S SR 3 wEE Mm% faw 9vm foumi o 9@l #t
S SIS BT |

Toh THR § Teeld & 3.3, fagia feell & fagid &1 foeR 81 Tostwt 3 S&dl &1 919 &
IS T ST T STaTashdel Sl Gord e of | Teetw §RI G T8 96 © ¢

(1)  maI, dfcheran, faswm (2) <&, Tk faash, <

(3) sifiac, dmdem, o (4) dfgwhR, YRR, o
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15. An organisation receives 23 lakh applications for 200 posts. Which of the following
interpretation(s) is/are most likely ?
(1) The unemployment is high.
(2) The candidates are much aware about the employment opportunities.
(3) The selection process becomes complex.
(4) All of the above.

16. Assertion : Prior to the formation of international labour organisation, most of the
legislations governing the working class in India were regressive in nature
and aimed at serving the interest of Britishers.

Reason : India was a British colony.
Codes :
(1) Assertion is right but reason fails to fully justify assertion.
(2) Assertion is wrong and reason is right.
(3) Assertion is right and reason is wrong.
(4) Both assertion and reason are wrong.
17.  Which of the following statements about shop councils in India is/are true according to the
1975 scheme of Workers’ Participation in Industry at Shop-floor and Plant Levels ?
(a) The employer of every industrial unit employing 500 or more workmen is required to
constitute a shop council for each department or shop.
(b) A shop council is to consist of an equal number of representatives of employers and
workers.
(c)  Shop councils have no role to play in production and productivity matters.
(d) The management in consultation with the workers is to evolve the most suitable pattern
of representation on the shop council.
Codes :
(1) (a) and (b) (2) () and () 3) (), (b)and (d) (4) (b)and (d)
o-ss [ [N : papeca




15. foel 91ed 1 200 UEi & few 23 &g e1ae Ui B & | fefafeaa °§ @ i 9 smen(v) gaifues
ST T/ ?

(1) USRI & 3 X

(2)  3Tefl AR STERT o oK ST ol § |
(3) =FA Wfsha Sifed = St 2
(4) ST 9|

16. 3R : U g9 G o ST o Ja YRA H HRRd TR a7 Sl wid i ol
rfrenten faum w@ew & yoamadt o TR ST Se9d forea anfadl =1 feawmem o

ek : rd e &1 wsh sufrew o)

HE :

(1) e 92 § wg 9 eifuehes w1 qofa: 3fea T2 Se |
(2) AfHYR Ted € IR qF WL 7

(3) @AfeRed HEl € SR I o 7

(4) AfRYR IR q AT Tod |

17. 9RG H W0-TR 3R 99 TR W AW § HHAIR * 9FIeRN WhiF 1975 F TR WRd § 9
FREd % o) 4 Frefafad § @ S 9 %A 98 2/8 ?

(a) IS ST T, TEH 500 A1 ITH SRt HAR FAfSG €, % e grn g favm
g & fou wife wefae Tfeq = srifera © 1

(b) Tt wifg w=faa & e &R wERT & gfafafeEl st 9 sRer 2|
(c) Tifa HEfEe ®T IeaeT 3R ScuTeehdl HITal § g et & gt T

(d) IEET F FHER HI TR & W0 wRfaa | gfafifra &1 waifs Suge Yo fawfad s
I

%<

1
osss

a) ¥R 2) (a) I (o) 3) (), (b) AR (d) (@) (b) I (d)
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18. Assertion (A) : Organisation Development (OD) is a planned effort and therefore requires
a great deal of thinking and planning on the part of the OD expert.
Knowledge and skills of the applied behavioural sciences are used in OD.

Reason (R) : OD cannot succeed unless the people at the top are committed to what is
being done. By definition, OD has to begin from the top.

Codes :

(1)  (A) is correct (R) is not correct.

(2) (R) is correct (A) is not correct.

(3)  (A) and (R) both are correct, (R) explains (A).

(4) (A) and (R) both are correct, (R) does not explain (A).

19. Which of the following studies/approaches does not come under the In-plant Theories of
industrial relations ?

(

1) The ‘systems” approach developed by John T. Dunlop.
(2

)

) The Human Relations approach of Elton Mayo.

(3)  The behaviouristic approach of Rensis Likert.

(4) The Group Dynamics approach of Kurt Lewin, Chris Argyris and others.

20. The objects and reasons of the Industrial Disputes Bill, 1947 stated that industrial peace will
be most enduring where it is founded on voluntary settlement of industrial disputes. Which
of the following machineries was created for this purpose under the Industrial Disputes Act,

1947 ?
(1) Works Committees (2) Conciliation
(3) Voluntary arbitration (4) Adjudication

21. The Noble Order of the Knights of Labour was founded in Philadelphia in the year :
(1) 1866 (2) 1869 (3) 1872 (4) 1879

22. The Leadership Theories based on the assumption that ‘the leader’s ability to lead is contingent
upon various situational factors such as the leader’s preferred style, the capabilities and
behaviours of the followers etc.” is known as :

(1) Situational Leadership Theory  (2) Behavioural Theories
(3)  Contingency Theories (4) Trait Theories

23. The Joint Consultative Board of Industry and Labour was set up in the year :
1950 (2) 1951 (3) 1952 (4) 1953

1)
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18. APURYT (A) : HieA fas@ s Frifsd wam@ § iR safay sod dies faw fagivg 1 iR 4
T Fra-foraR AR 25 &1 S Tedt €| 6ie foe § TIuge el

faam & I oiR iwa &1 W foa s

T (R) : G f9Ta q9 T T%al &l ol Gahdl ¢ 99 aF Sl 9 fhan o1 @i € 39F ufa
3TY R ST AT Tt 7 211 IR % ST{ER §ed fashrd &l 3iY 9 gRY
BT B

(1) (A) " E, (R) Terd &

2) (R)HEIE, (A) 7o 2|

3) (A) 3R (R) S TE €, (R), (A) T AR FHLT1 T
(4)

(A) 3R (R) TFI ¥&T ¥ (R), (A) T AT T& H3a 7 |

19. fr=fafea # @ $F-T1 e/ surm SA=ifite el & $7-wie fagia & o= el 3T € 2
(1) S 21 ey g gfquifed ‘seeen’ 3ar |

(2) TUced AR 1 4 Ha8 U0 |

(3) WEH faehe &1 HATERAR! U |

(4) e afam, fire oFiRE iR o1 1 WE T U |

20. 3irEnfires foame erfufam, 1947 =1 3239 IR Rl sqm € T f=ifires wi< waifes fesrs qft g
e g% 3irenfies foarl & Wfess gaem R enufa &1 sienfies faarg sifuftem, 1947 & 9&a =9
A & foru ffafa & 9 $iA-d 7= wenfaa =t 8 o ?
(1) == gfafa (2) YE
(¢) wWfe® dar (4) srfaforE

21. Trarefera & 99 o F9d STTEX A1 § 329 Hi TMo o a9 g8 off ?
(1) 1866 2) 1869 (3) 1872 (4) 1879

22. 3TE@ YRON W MUG A9 fagia & ‘A1 & A9 FT eTHaT SHeT gE=ier e, Areaie iR
T o AeeR S fafue feafas= wreR! W ARk w3 7, 1 9 el < © 2

(1) Teafas= g fagid (2) HTERS fagi
(3)  SThiETehd oI (4) favm o (32) fagia

23. TEW IR g9 et Hga WHeies a1 st T fRe av gg off ?
(1) 1950 2) 1951 (3) 1952 4) 1953
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24. What is a ‘wild-cat strike” ?

(1) Strike perpetrated by workers with the support of the relevant union without giving
notice to the employer.

(2) Strike called by a group of workers on the spur of the moment without any formal
notice to the employer or any consent from the relevant union.

(3)  Strike called by the union after resorting to a strike ballot.

(4) Strike called by a union with a formal notice to the employer just a few minutes before
the commencement of the strike.

25. Directive principles of state policy, as contained in Indian constitution, contain various Articles
which have influenced the enactment of social and labour legislations. Match the subject
matters of Directive Principles with Article Numbers as given in List - I and List - II
respectively.

List - I List - II

(a) Equal pay for equal work for both men and (i)  Article (41)
women.

(b) Right to work, to education and to public (if)  Article (39 d)
assistance in certain case.

(c) Provision for just and humane conditions  (iii) Article (43 A)
of work and maternity relief.

(d) Participation of workers in management (iv) Article (42)
of industries.

Codes :

@@ (b) (o (d)

1) @ @ 3§) (v)

2) @@ @ @v) (i)

() @ @) 3§ (iv)

4) (@v) @) @) @

26. Examine following statements about British and American Industrial Relations and identify
those which are wrong :

(a) The core feature of British industrial relations is the central role played by workplace
union activities .

(b) The workplace union activities promoted through ‘shop stewards” has curtailed the
union strength as bargaining agents at the plant level in U.K.

() American industrial relations have been described as adversarial and a relationship of
confrontation.

(d) While unions in America mainly were preoccupied with gaining recognition as a
bargaining partner, the management used informal participation schemes as a weapon
to break the unions.

Codes :

(1) (a) and (c) are wrong (2) (b) and (c) are wrong

(3) (a) and (d) are wrong (4) None of the statements are wrong
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24.

25.

26.

D35 HHHIHIII

‘ATETe-Hhe geaTd’ FA T ?

e = Aifew T fomn Fafya Fiai & I9eF 9 S g1 e T geard |

et o0t g ot Aifeq fou fomm =n deifua gfaal @ fomn frdt geafa & waew §
TR KR < Tordl T9g g1 fohar T gedre |

ZSdld HASH I % I¥EId (o 5T Il T8 g<aret |

TS AR B F 9 & e @@ Frefea # s Aifew o gfea gr Joi T
g |

IR Hiaas | i T o ifd fes 9@’ § o e sT3wss § et S aen 99 faegm «
TE TSl ¥ gEt - 1 ¥ o T v & Aifq fdere et & fawi e - 1 H @ et

ITT=e% e § gHfad #ifsd .

et - 1 gl - 11
el qen feral <1 o ford v el & fae 99 aa (i) TI=sT (41)
% &1 SAfeEr, foren w1 AfeR qen fordt Ame § ol Wemar (i) oTIeeT (39 H)
AR IECay

T & 3 qen e ool w@ ugfa Ted & fad g@uem (i) TR (43 %)
UM & Yo | HATR &1 qFIER (iv) STI8% (42)
(@ () (9 (d)

(i) (@) () (i)

(i) (@) (v) (i)

@) @) () (i)

(iv) @D @) (@)

fafesr i sTaftrT hafie dee & s d fr=fafaa wemi &1 90er &Y SR S FUH1 S T8aH 5L
Fﬁﬂ?ﬁf%

fafew sirenfie weoel =1 g foavva sriaa gfem srwad gr fHaE s et =i
I B |

"oITg WAATe’ o g WIcHTfed shTeieerd gfed hrisardl | fored # 993 ®R W AidvE w3 &
TS & &9 § it &1 vifed 1 w0 A fean 2

SRR SATenfiTeR edl o1 au gfaiequl oIk a4l &1 THiee & 9 § ka1 S g |

et STt ® IfHEF I ©9 @ Hiawe w3 % TR & ©9 H 9l 3T 3 B G 9, a8
Tere | STAEIe AR Wil 61 FAr I Sl dred & fau sfrar & w9 § e

() 3R (c) Trd 1 (2)  (b) 3R (c) Tera T |
(a) R (d) TTera T | (4) I off weH Terd TR T

(AR s




27. The person whose nationality is the same as that of the country in which the corporate office
of the MNC is located, but differs from the country in which he is working, is called :

(1) Parent Country National. (2) Host Country National.

(3)  Third Country National. (4) Home Country National.

28. Which of the following statements is not true about Dunlop’s Industrial Relations System ?
(1) Itconsists of four basic components namely actors, ideology, rules and an environmental

context.

(2) In respect of rules, they can be both substantive and procedural.

(3) In respect of context, it incorporates technological, economic and political contexts.

(4) In respect of ideology, there is no need to have consensus between the ideology of

actors.

29. Assertion (A) : Labour Welfare will give rise to social inequities.

Reason (R) : Workers of large undertakings having capacity of offering better welfare
amenities will be better placed then those of small and medium undertakings
which are not in a position to run welfare services.

Codes :

(1) Both (A) and (R) are wrong.

(2)  (A) is right, but (R) does not explain (A).

(3) (A) is wrong and (R) attempts to justify a wrong assertion.

(4) (A) is right and (R) explains the logic of (A).

30. A dispute involving an individual workman relating to which of the following issues shall
not be an industrial dispute without the support of a trade union or an appreciable number
of workmen ?

(1) Termination (2) Dismiss/Discharge

(3) Promotion (4) Retrenchment

31. Match the following :

Name of the Act Also called

(a) The National Labour Relations Act, 1935 (i) The Wagner Act

(b) The Labour Management Relations Act, 1947 (ii) Taft-Hartley Act

() The Labour Management Reporting and Disclosure (iii) Landrum-Griffin Act

Act, 1959

Codes :

(@ (b) (o)

O O @ G

@ G O

@) Gi) () @)

@) @ ) 0
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27.

28.

29.

30.

31.

D-5515

iferd i TS ST W 1§ TuH sgusda st w1 fm wmfers fed ®, fe 3w tw | =
& ot & &l R ) E, 79 38 el SR

(1) SAf9Es <9 TegarE | (2) ESEM Q¥ AT |

(3) 3T < UL | (4) T8 U UL |

ST & ST Hey ugfd & aR # frafafea § @ w8 91 wud w6 @ § 2
(1) =99 =R ga ¥ i, foamem, fom iR ardmere e wmihe 2 §1
2) Tl & gy # 9 arafas iR Frifafy get <A @ g ©

(3) Hed & Hey H ¥ Nt s R Terifaew deul w1 gefed wa €
(4) foaRyR & oy # foaream iR wal % == Fgafd 1 savas T 2|

ARRIT (A): 99 HAT § HHINSH ST ST |

qh (R) : TEA FHeAToT GITTE FSH FHA 1 &THAT Tt oIS SUhHI % HITHb] bl 37 SIS a1
A SYHHT, S FHedrT Gt g w1 feafa o 7 € % Fiitdeni w1 g o
T TE W T |

1) (A) 3R (R) H Ted T

2)  (A) W& T, T (R), (A) FT AT Tel FH|

3)  (A)TTEd € SR (R) Td 2ifiehes i 3fed g 1 YA Hl B
4) (A)TE ® R (R), (A) F T HI AT F L

(
(
(
(

frefafed & @ forg qge & day ¥ fdl foae & s fomiv & e 9 W 7 giaa =
FHHTR 1 A3 T & g0 & foa 9 fenfires foarg 7 wmn s 2

(1) THIE (2) feafyw/fewarst

(3) WA (4) et

frefafed =1 gafed =<
arfafray &t - ECASIE RS 16
(a) U= gA "oy sAfufad, 1935 (i) T ETR TR
(b) 9™ YeE Gey tfuftad, 1947 (i) THR-TEA TR
(c) T R HAsHe AT Te fegaasr (iii) eewm-TIfrR T
TF, 1959

A

@ () (9
(i) (@) (i)
() (@) (i)
i) () (i)

(i) (i) ()
AL RR T i

TN N N N
B~ W N =
oo

(
i




32. Match stress related terms (List - I) with their description (List - II) given below :
List - I List - II
(a) Coping Behaviour (i)  The resultant feeling caused by a sense of privation,
deprivation or conflict in relation to the goal directed
activities.
(b) Deprivation (ii) Dealing with situations of privation, deprivation,
frustration and stress.
(c)  Frustration (iii) Blocking of or interfering with goal directed activities.
(d) Glow-up (iv) Feeling of challenge, high job satisfaction, creativity,
effectiveness and better adjustment to work and life.
Codes :
(@ (b) (o) (d)
O (@) @) 0
@ i) @ @) 0
@) O @) @) @)
@) (v) @) @ 0
33. The provision of prohibiting strikes and lock-outs without fourteen days notice in the public
utility services provided under the Industrial Disputes Act, 1947 has been borrowed from
which of the following ?
(1) Report of the National Commission on Labour (first), 1969.
(2) Recommendations of the Indian Labour Conference.
(3) Defence of India Rules, 1942.
(4) Report of the Labour Investigation Committee, 1944.
34. Which of the following statements about collective bargaining in India are true ?
(a) Collective bargaining is a legally sanctioned method in India.
(b)  Collective bargaining is not a legally sanctioned method in India.
(c)  Collective bargaining is partly voluntary and partly compulsory.
(d) Collective agreement is binding on the parties that have signed the agreement.
Codes :
(1) (a) and (b) are true (2) (b) and (c) are true
(3) (b) and (d) are true (4) (a) and (c) are true
35. The General Conference of ILO, at its 26th session held in 1944, re-affirmed the principles
and adapted a declaration which is popularly known as :
(1) Geneva Charter (2) Washington Charter
(3) Philadelphia Charter (4) Berne Charter
oss1 [ MR NAIE y —




32. Tr=fafed a@ @ Gafud w&i (G 1) o1 37k foemor (ge=it 1) § gafad &3 :
T - 1 T - 11
(a) Teufa &1 9T &0 ¥ 9aM R (i) 9@, g9 A1 ded Efra e & d9y o
oY & 9E § 3= 94 |

(b) F=IA (i) 1w, g=, fren o) q e wt feafa 9 e

() fwmem (iii) @&a IR wrwa ® aifyd wE a1 SuE
BT HTT|

(d) YFfeard g (iv) A, 3=9 wE Sqfte, Tt TR SR
% TR o H Jga TS i e |

%<

@@ (b (9 (d)

1 G ) @ 0

(2) @) @) @v) ()

G @ (@) @) (v

(4) (v) (@) @) ()

33. SiEfies foame erfufrem, 1947 qgq M STEM Feneti o Hige foq &1 Afeq feu fa geaa ok
a1 Fiavy A Heet Suery fefateg § @ fHad fomn T 2
(1) o9 Geiet T MR 1 gfaded (92d), 1969
(2) IR SH T i TR
(3) W« & frEm, 1942
(4) oW THYE wfafa 1944, &1 gfqaed

34. frAfafEd § 9 HH-91 %29 9RG | e iR & 9 § Wal § 7
(a) Wfesh HicaTs YR H HHA &9 § Wigd frarfafy 7
b) WMfew FaTsi YR § HIA ©9 § wiha fharafy =& 2|
c) THfew Ferst Hve: wiesfs iR sfvm: st §)
d) THfes THE FIR R &R FA et gt vall & fau st 7
< :
1) (a) 3R (b) T | 2) (b) 3R (c) TR B
3) (b) 3R (d) T @) (a) 3N () T

(
(
(

35. 99 1944 H STAINNG LT 99 HTeq & 26 o ¥ | M e 1 3 fagral &t 3: gfie &t aa
e SO I TR fordn T S S=Tan 39 €9 H S SR

(1) e = (2) AT =
() fraTefewan A (4) o =R
o-ssts | I 1 papern




36.

37.

38.

39.

Match the following :

List - I List - II
(a) Hot - stove Rule (i) Grievance handling
(b) Common Law (ii) Disciplinary action
(c) Step-ladder system (iii) Union security measure
(d) Protected workman (iv) Principles of natural justice
Codes
(@ (b) (9 (d)
® @ @) G (0v)
(2) @) (@v) @) ()
(3) @@ @) @) 0
4 Gv) (@) G @)

Hofstede’s cultural variable of ‘Power Distance” means :

(a) the extent to which less powerful members of organisation accept and expect that
power is distributed unequally.

(b) that the society’s level of inequity of power is endorsed by followers as much as by
leaders.

(c) that power and inequity are fundamental facts of any society.
Codes :
(1)  (a) only (2)  (b) only (3) (a) and (b) 4) (a), (b) and (c)

In which of the following situations maximum compensation is paid under the Employees’
Compensation Act, 1923 ?

(1) Death resulting from injury

2) Permanent partial disablement

4

(2)
(3) Partial or total temporary disablement
(4) Permanent total disablement

Which one of the following Articles of the Indian Constitution has been made effective with
the enactment of the Equal Remuneration Act, 1976 ?

(1) Article 41 (2) Article 43 (3) Article 39 (4) Article 42

o-sss [ I s



36.

37.

38.

39.

frefafaa =1 gafad =i :

T - 1 Tt - 11
(a) BR-EE A (i) aREE e
(b) RIAA AT (i) ARGl HEAT
(c) ¥u-weT fawd (iti) FFTET GLam SuE
(d) HfHd FER (iv) UTRfde = & fagia
< :

@@ () (o9 (d)
1 @ @) G ()
2 @@ @) @ (i)
@) @) () (v) ()
4) (v) (@) @) (@)

BRTE & 'R fewq’ & wiwpfasw =X &1 arcad § -
(a) 59 9 9% Seq & Y Vel TEE I8 TR SR oTHe wd € fob wfed &1 sreme
foraRor gam B

(b)  IfS T STHUAT & THN & TR F1 GHT AT & gr1 off 31 &t fohann S @ foran =i
S|

(c) i iR srammar et Tam & Hifas o= ¥
Eﬁ‘ :
(1) e (a) (2) ke (b) (3) (a) &R (b) 4) (@), (b) ¥R (c)

frefafea o 9 fora feafa o weemt gfawt stfufrem, 1923 & staia sifyshan gates 1 M
ERIE K

(1) ¥1=d BR % IROTHSEEY 9 |
(2) Tl AR ST

(3) iR AT YOI STEUTAY STUT |
(4) Terft qui Y9 |

g Tiigfas erfufam, 1976 & erfufam @ 9RdE Sfaum &1 fefafed & @ =0 o =t
FHTR T AT ?

(1) STT=% 41 (2) ITTT 43 (3) 3TT=< 39 (4) STT=% 42

o-sst [ LRI 1



40. Match the provisions given in (List - I) of the Factories Act, 1948 with the conditions relating

to employment of workers given in (List - II).
List - I List - II
(a) Cool drinking water (i)  Five hundred or more workers
(b) Ambulance room (i) More than one hundred and fifty workers
(c)  Shelter, rest rooms and lunch rooms  (iii) More than two hundred and fifty
workers

(d) Welfare Officer (iv) More than five hundred workers
Codes :

@@ (b)) (o) (d)
1) @ @) @ (@iv)
(2) @v) @ @) ()
(3) (@) (@v) @) @)
4 @ @) @) (i)

41. The following statement has five sub-parts. Identify the ones which are right and those
which are wrong.

(@) The Foreign Direct Investment (FDI) is an alluring target for both developed and
developing economies.

(b)  Ease of doing business and reduction in bureaucratic hassles are becoming preconditions
for attracting FDI.

(c) Labour reforms in order to reduce the controls of “protective” legislations is demanded
by Foreign Direct Investors.

(d) Harmonious Industrial Relations climate with low union density and strong participative
culture is expected by the Foreign Direct Investors.

(e) Political stability and economic fundamentals, however, are precluded from the
preconditions of FDI.

Codes :

(1) (a), (b) are right ; (c), (d) and (e) are wrong.

(2) (@), (b), (c) are right ; (d) and (e) are wrong.

(3) (@), (b), (c), (d) are right ; (e) is wrong.

(4) (a), (b), (d) are right ; (c) and (d) are wrong.

42. In case an employee suffering from partial disability, applies for voluntary retirement then
under the persons with disabilities (Equal Opportunities, Protection of Rights and Full
Participation) Act, 1995, it is the duty of employer :

(a) to let the employee go under the voluntary retirement scheme immediately.

(b)  to advise the employee that despite his partial disability, he has the option to continue
service with the same conditions of employment.

(c)  to process the application for voluntary retirement, as per the applicable rules, if inspite
of being advised to continue service, the employee wishes to take voluntary retirement.

(d) A disabled employee cannot opt for voluntary retirement.

Codes :

(1) (a) only (2) (d) only (3) (b) only (4) Both (b) and (c)

o-sss [ [N 2 papeca



40. FHRE fafEm, 1948 o (Pt - 1 7 ST M) Sua-4l sl AR o FeH | Fafud (Pt - 14
fau o) frafai @ gafad w1
el - 1 el - 11
(a) 3T 5@ (i) 9T G A1 SR SRl HHR
(b) THEE &H (i) TH §l TEE § SR FAIR
(c) YRURYE, fasm w& R = wa (iti) 31 TE § SART HER
() FHemr Ry (iv) 9 E 9 SR R
< :
(@ (b)) (9 (d)
1 G @) @ ()
(2 (v) (1) (D) (i)
(3) (i) (v) @) ()
@) @@ @) (v) (i)
41. Tfafed woa & 9= ST-9m €1 379 9 9t 3R TTord i 9e= i |
(a) Y fagen fae (Th.21.eTs. ) fomfaa IR fawmesial steeraensii Tl & fau gumeE as
2
(b) HATHE FHIA Ht Glaen AR ARWET HicTeal § wHl TF.ELTE. STHd F H1 JHerd o]
RIRGIES
() et faaett frerers ‘wremeres ' faemi & e # &t @ % faw s gl &1 w9 w3 )
d) e faeh frewes f gfvem o@ oIk gge uriiert Sepfa & wre Oyl sienfits dey
ATATEROT St STHET T R |
(e) qenfy TsTifah Tenfoe oIk Teferawen % HeIyd @l i Th.S1.3TE. i qavmal ¥ gfqend &
ERIRRIES
< :
1) (@), O)TAE; (), (d) (e T@El  (2) (a), (b), (c) T T ; (d) W (e) Tord T |
B) @), ®), (), (d) T E;(e) T 7 4) (@), (b), (d) T T ; () R (d) T T
42. e =7iferw erdar 1 FreR gon =Rl Witss dafgfa & fou smaed wta § 99 o7 =afw
(T TR, ARl 1 TRaror iR ol wewfirar) sifufrem, 1995 % st e 1 78 #ded §
&
(a) W qEhIA Y9G ¥ Wfess Fargha AIsH & ded Hargia JSH &1 |
(b) HHAR I IT HATE 31 fof 3Tk A STIAN & ASIS[E 9k IH FAM S ol o 1
T S T 1 fased 2
() W1 SR A I e fGu 9 & areng Aafe wHarl Wiess Janfgfa o =@ © @ ]
fredl & STTER Wfeg® Jarfgia & e W wRaR wE |
(d) =TI FHER W Fartgia & fawen &1 =99 T w g B
< :
(1) 9 (a) (2) I (d) (3) HIA (b) (4)  (b) ¥ () S
o-ss [ IMTINAAII n Papeci




43. An employee retires from a factory after putting in 28 (twenty eight) years of service. The
last wages drawn by him per month before retirement was I 39,000. What is the amount of
gratuity to be paid by his employer under the payment of Gratuity Act, 1972 ?

(1) < 5,46,000 (2) R 6,16,000 (3) < 5,89,000 (4) < 6,30,000

44. Which of the following comes under the ‘State List” as provided under the Seventh Schedule

of the Constitution of India ?

(1) Relief of the disabled and unemployable.

(2)  Vocational and technical training of labour.

(38)  Social security and social insurance.

(4) Welfare of labour including conditions of work.

45. Who has given the meaning of “Conjunction” in industrial relations as “a state of relationship
under which the parties, instead of offering their best, offer the least in the absence of which
the relationship will break” ?

(1) Selig Perlman (2) Neil W. Chamberlain
(3) Frencis Walker (4) Ian Clegg

46. Knowledge Management refers to :

(1) Providing the best skills to employees through planned training programmes.
(2) Capturing, developing, sharing and using organisational knowledge.

(3) Creating data bank of information about employees and customers.

(4) Gathering information from employees for bringing planned change.

47. Under the payment of Bonus Act, 1965, for a Banking Company, what percentage of the
available surplus shall be taken as the allocable surplus ?

(1) Seventy five percent (2) Sixty seven percent
(3)  Fifty percent (4) Sixty percent
48. Match the following :
List - I List - II
(a) Works Committee (i) 1983
(b) Joint Management Councils (if) 1958
(c) Board-level participation (i) 1947
(d) Scheme of Employees’” participation (iv) 1970
in Public Sector Undertakings
Codes :
@@ (k) () (d)
W (W) @ ) 0
@ ) (v 0 G
@) ) O (v )
@) @ @) @6
S T —




43. IS HUAR 28 (372EH) T8 w1 a1 % qvarq frdt Fagt & Fantga 21 &1 Fantgia & Id 3Heh!
I A" TS T 39,000 TS off | I TR 5 3W IURH SR AtuftEm, 1972 %
3T Toha T SUSH 1 ST foham ST |
(1) < 5,46,000 (2) X 6,16,000 (3) < 5,89,000 (4) < 6,30,000

44, AT Ffau™ F oTrq grael STIge | 3§ e wew g # frefafed § @ w9 wmita €2
(1) Tl qen SRS i T
(2)  Hftekl FI AEHIE q1 dhATRT TRIE0
(3)  HTHIISISR Y& G HHSTeh STHT
(4) M A F1 feafaar afed gm0 woam

45. fwEa ohenfire daui 8 ¢ wgaem o1 ot del o fefa foaeh eria Ta1ehR o101 Sgada 39 &
SSITT 3791 <A <4 ¢ foreent Tufeafa # dey 22 smom '’ & &9 # 9amn § 2
(1) afe getis 2) ia Ty, SRR
(3) " diT (4) I FT

46. T YU 1 A T
(1) TS wfineror srefswel & R wH=TEl S Faran Hive I&H 6T |
(2) TSRS FH ULV HTAT, fThfad T, SRE-YSH FHIAT SR ST HIT |
(3) HHETAIRET AR UG o IR H FaT1 Hl S 9k TId HEAT |
(4) s afteds o o foae we=rfEl @ g i &

47. <9 e arfufTam, 1965 & eAqifa fodl of® syt & fa3 Suasy arfuwe &1 foa gfaem
fafrea sifeeie o w9 # foran s ?

(1) veeR gfded  (2) EgEs gfav (3) w=E gfaed (4) w13 yfqera

48. TrAfafea w1 gafaa & :

Tt - 1 g - 11
(a) e wfEfd (i) 1983
(b) EgH Yerud TR (i) 1958
(c) dE-TR 9FieR (i) 1947
(d) HESE & o6 IThHI H HHANET i (iv) 1970
TERY <t AT
%<
(@ () () ()
1 (@) @) Gv) @)
(2) (@) @Gv) @) ()
@) (@) @) o (v) (i)
(4) () (v) (@) ()
o-sss [N . Paperi




49. Match the descriptions with the respective terms as given under the Industrial Disputes Act,
1947.
(a) Permanent closing down of place of employment (i) Lock-out
(b)  Failure or inability of an employer to give (i) Retrenchment
employment to a workman whose name is borne on
the muster - rolls due to shortage of coal, power,
raw materials or accumulation of stock
() Temporary closing of a place of employment or the (iii) Closure
suspension of work by the employer
(d) Termination by the employer the service of a workman (iv) Lay-off
for any reason otherwise than as punishment
Codes :
(@ (b) (o) (d)
1 @ @@ 3§) (iv)
(2) @) @Gv) @O ()
(3) (@v) @) @@ @
4) @@ @ Gv) (i)
50. Quality of work life as a socio - technical concept was advanced by :
(1) Fred Luthans  (2) Eric Trist (3) AK. Rice (4) Peter F.Drucker
51. Which of the following statements relating to ‘Lay-off’ under the Industrial Disputes Act,
1947 is not correct ?
(1) Lay-off compensation shall be equal to fifty percent of the total wages and dearness
allowance.
(2) Lay-off compensation can be paid maximum for a period of forty-five days during a
period of twelve months.
(3) No lay-off compensation can be paid if a workman laid - off refuses to accept any
alternative employment in the same establishment.
(4) A laid - off workman need not present himself daily for work at the establishment
during the period of lay-off.
o-sss [ [N 2 Fapeca




49.

50.

51.

freferfaa faeron =t sieifre faare sifufrem, 1947 & oidia fed ™ udi & Ty gofaa wifs

(a) USFIR o T 1 Tl ®9 9 95 foman S (i)  drern sdt
(| r3e)
(b) e, fosTell, =t A1e Yl Wik GoF &l HH F (i) A
0T FHETEE (TR Tdd) | 9m wiHa fae (Re=a=)

&I ISR <7 # fordlt Taiern i faoherar stere sTamefan |
(c) T gr s werfira fohn S = e g1 ISR (iii) =g E
% TE T STEATT IR W 9 fopa ST
(d) I ¥ s fordl HRUE fohelt FETR FT a1t &l (iv) HHATRAT ! ST

[ERIEI- UL IR ERIRSIE w9 9 AL IS TG H
fer &1 < (d-21h)
e :
(@ () (9 (d)
@ @ @) 3§D (Gv)
(2) @) @Gv) @ (i)
G) (v) (@) @) ()
4) @) @@ @v) (i)

MR -qehleh] STAYRIT & €9 § HE G FaHd Stad i e 1 gfqued feea fewan
o1 ?

(1) e g (2) = fee (3) TH. TEH (4) R THIR

ANt foare atfufrem, 1947 & siqia ewerl St (A-311F) & IR # frfafad § § sE-4
ERERE F
(1) 3TRh S (A-3ATh) Yfa o1 TG ad HEMe o o T=d Yfaerd o aRie gt ¢l

(2) TR VAT YA T YA IRE HIE i STATY o IR Tfaehad Jarey fodi &1 eafy &
o foran < @ 2

(3) afe sTeumht Yot § yofaa HIE FTR 6T gfas™ H 18 dehfeush AsHR ThR T& il §
W, 3H T et St gfdert 61 Yo T8 T S

(4) oTEIRR YAt ¥ yAIfaq foRet FR &1 o St o7afy & SR gfaed § &M & fad
fdfed Sufterd gH 1 setd el B |

o-sst [ LRI s



52.  What is the full form of AFL-CIO ?

(1) Asian Federation of Labour-Committee of Industrial Organizations.

(2) African Federation of Labour - Confederation of Industrial Organizations.

(3)  American Federation of Labour - Congress of Industrial Organizations.

(4) American Federation of Labour - Confederation of Industrial Organizations.

53. Match the followings in relation to staffing approaches adapted by the MNCs :

(a) Ethno centric Approach (i)  requires host country nationals to be hired to
manage subsidiaries whereas parent - country
nationals occupy key positions at corporate
headquarters.

(b) Polycentric Approach (i) seeks the best people for key jobs regardless of
nationality.

() Geocentric Approach (iii) requires parent-country nationals on all the key
positions.

Codes :

@@ () (9

1) G @ )

@ O @ i)

@) ) @)

(4) @) @) @

54. What is the ceiling of monthly wages for covering an employee under the Employees” State

Insurance Act, 1948 ?

(1) < 10,000 (2) R 15,000 (3) < 18,000 (4) < 12,000

55. Which of the following interpretations is true based on the statements (A) and (B) ?

Statement (A) : staff can make an advise to a line manager.

Statement (B) : A line manager may or may not accept the advice.

Codes :

(1) Both (A) and (B) are correct.

(2)  (A) is correct but (B) is incorrect.

(3) (A) is incorrect but (B) is correct.

(4) Both (A) and (B) are incorrect.
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52. TUE TA - §f 1% o7 o1 faer @ g2
(1) TR FERM A AeR-HHS 3 sSREa AN HESeHy |
(2) SIfRHT HEWM Ah TR-HIheTM h SSHIA AN |
(3) STHRET HERM N Te-FiId 3H TSI AN AEIIY |
(4) STHREHT HeWH 31F AeR-HIHeRME AF sSEad AN |
53. SgUSE ®HEAl §RI ST S a7l Rk UM & Ha9 ¥ Frefafaa wi gafad &1
(a) TSfd hf<d IUFTH () HEEE HEMEl % YA o fau 99ed <0 %
TGN 1 el T T ST BT § STalfeh ST TeR
9 % A W e % YHE w6 W ST
ok
(b) gHi=d IUTH (i) A R A fou fo @ wr % fau getm
el Y WIS FAT 7 |
(c) Thfgsh UM (i) THH Afquras TW % i H gt Tecgut vel
TR TG T |
e :
(@ (b (o)
1) @) @G ()
2 @ () (i)
@) ) (@) @
(4) () @) @)
54, wHAN T ot sfufTad, 1948 % Sidavia sntha 8 o fordl forel s st wifies wsigdt &t d
e R 2
(1) ¥ 10,000 2) % 15,000 (3) ¥ 18,000 4) ¥ 12,000
55. e (A) 3R (B) % MR W fefafaa § @ 1 9 =amen 9@ 82
AMIRIT (A): TIh, AEH Jo-Ish H e < Thel T
AFUHRYT (B): TET Yo HAE ! WHR AT SRR T Th ¢ |
e :
(1) (A) 3R (B) IHi ¥&t 1
2) (A) 5 T Aferd (B) Tod g
(3) (A) TTeTd § wAfRA (B) W B
(A) 3R (B) T e € |
D351 \||H\|“||||“|||\|||HH||\|H|\|||||H|!|“||\||\|\|\||||\
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56. Institutions of workers participation in management is/are provided under which of the

following legislations in India ?

(a) Industrial Disputes Act, 1947.

(b) Industrial Employment (standing orders) Act, 1946.

(c) Factories Act, 1948.

(d) Plantation Labour Act, 1951.

Codes :

(1) (a), (b) and (d) only (2) (@), (b) and (c) only
(3) (b) and (d) only (4) (a) and (c) only

57. Which of the following is considered as a precursor of Indian Labour Movement ?
(1) The Bombay Mill Hands Association
(2) The Ahmedabad Textile Labour Association
(3) The Kamgar Hitwardhak Sabha
(4) The Madras Labour Union

58. Alpha, Beta, Gamma A and Gamma B changes are related to which change ?

(a) Structural change (b) System change

(c) Process change (d) Cognitive change

Codes :

(1) @and(®) () (b)only (3) (d)only (4) (0 and (d)

59. Under the existing provisions of the Payment of Bonus Act, 1965 a ceiling has been imposed
that for the purpose of computation of Bonus, the wages be considered to be rupees ten
thousand only. There exists a proposal to amend this ceiling and raise the upper wage
ceiling for the purpose of calculation to :

(1) Rupees Eleven thousand (2) Rupees Nineteen thousand
(3)  Rupees Fifteen thousand (4) Rupees Twenty five thousand
oss1 [ MR NAIE 2 papeca




56.

57.

58.

59.

IRa # freafafed § @ foa faumi § yeiem § i &1 vriert geenfya 8/ €2
(a) it faarg stfufem, 1947

(b)  TEnfiter frire (Temedt smew) stfufrm, 1946

(c) @M AIH, 1948

(d) @ 9w AHHEE, 1951

He:

(1) 9 (a), (b) 3 (d) (2) I (a), (b) I (o)
(3) A (b) ¥R (d) (4) A (a) R (o)

frefafed § 9 frd wRdT 9@ STT<ie 1 qEmE! 711 S € 2
(1) = o Freg TEfgueH

(2) STEAREIE THEEEA TR THINATRH

HHR e g

HETE wier I

)
)
®3)
)

4

3T, S1eT, T A 991 1 B e frefafaa # 9 fog afiads & gefid 82

(a) HEATHE TREdH (b) —=aE IREA

(c) fshan gfEm (d) TS aREdd (HifAfes =)

e :

(1) (a) 3R (b) (2) (b) Fea (3) (d) % (4) (o) 3 (d)

S et SAfufTay, 1965 % A WEHM! % Havid Tk Ul e i wt w4 € o S| a5t
UM B, HIGY had S8 TSR 94 Tk i HH1 T fa=r foham SR Somn 3q 59 90 S &l
TENfed X qe gl i S ST SR fohaT F T JEE §

(1) TIRE &R &9 (2) 9 TR T
(3) T TR ¥4 (4) T TR T

o-sst [ LRI 2



60. Which of the following statements about disciplinary action is wrong ?

(1) Enquiry can be conducted in the absence of the alleged employee after giving enough
notice.

(2) If the alleged employee is not satisfied with an enquiry process, he/she cannot request
for fresh enquiry.

(3) Suspension pending enquiry has to be supported with subsistence allowance.

(4) Fine as a punishment levied can be deducted from the wage of an employee.

61. Under whose stewardship quality circles were first introduced in India in the
Ramachandrapuram unit of Bharat Heavy Electricals Ltd ?

(1) S.R. Udpa (2) B. Muthuraman
(3) Madhurendra Verma (4) Ram S. Tarneja

62. Which amongst the following is not an Attached Office of Central Government’s Labour
Administration ?

(1) Office of the Chief Labour Commissioner (Central).
(2) Directorate General of Employment and Training.
(3) Labour Bureau

(4) Central Board of Worker’s Education.

63. Which of the following is a job grading structure that falls between using spot salaries versus
many job grades to determine what to pay to particular positions and incumbents within
those positions ?

(1) Broadbanding (2) Variable compensation
(3) Executive compensation (4) Team based pay

64. Which of the following statements about disciplinary procedure is/are true ?

(a) A charge-sheet enumerating the alleged charges shall be given to the alleged offender
with a scope to give explanation within reasonable time.

(b)  The notice of enquiry need to contain date, time and venue.

(c) If the alleged offender is not satisfied with the enquiry process; he/she can not seek
another enquiry, because it is a management prorogative to hold enquiry.

(d) Under any circumstances, the enquiry cannot be held in the absence of the alleged
offender.

Codes :

(1) All statements are true (2) Only (a) and (b) are true

(3) (a) and (c) are only true (4) (a), (b) and (d) are true
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60. ST HATE & aR § fAfafad § § & 91 w27 96l Ta § ?
(1) AT Tfeq T % 915 ARG FHAR Ht STureafa § S s <1 gehdt 2|
) 3f FRftq FHER ST ik 9 9g 76 T 9@ 9% AU R @ Se w1 iy T/ o
Hehdl/ Tkl T |
(3) Trciem =i aftea S %1 fafg o @ gafea g =iz
(4) TS % ®Y § Y T S[HA I FHAR i Togd § foran < gehen 2|

61. foHas A & o gRfemr (Fenfeet dfhay) Fevem IRa § 9Rd 3ot saaeieay faffes &t
THISIH SohTs | STREY i T8 off ?
(1) TH.3R. €U (2) St gy
(3) WYL Tl (4) THTH. qS0

62. TrAfafad § @ =1 &g TWHER & 99 YIMEA | T\ wEied & ¢ 2
(1) F&F 49 g (hg) 1 HE
(2) TSR a1 gfkeror wRifeemner
(3) A
(4) e IR fran A

63. TrAfafEd & ¥ & Fr Juieor G (Sid ST Tar) € 51 WH 94 (e Jolt) sAm o s
F1d S (Sife ) & YA & Wi uSdl § dife Ig sifufyifa & ww o fret fase ush @ qen
3 eI o iR IRHRAl Fl F e TR S 2
(1) sreafe
(2) afREdTeiia gfde (ARerae wFaTaE)
(3) wHEHN gfdwt (Tl HETTEYH)

(4) =@ AN M (I aFe Ti=)

64. oTRMEfTE YfEa & day H frAfafed 8§ @ SF-91/9 FUF 9@ §/% 2
(a) U ST I GG H AT AR T (I M) Fl Hfod STqeh 1 Fiar S e
3HY THUT G % iR 36 Fag § T <7 o fod el S|
(b) g w1 g A fafy, au9 iR wom %1 Sea W/
(c) afe o sTomreft ST 9fshan & W 7 €1, A I8 qEU SI1= 1 Wi el HY Fhdl/ Tk Hifh
Sire AT Jeie 1 fosrofeer €|
(d) Tt off oftfeafa ®, Sita wfoa sToweh =t srqufeafa & =2 & @ |

(1) Tt Fee e T (2) HAA (a) 3R (b) T T
(3) HAA (a) 3N (c) T ¥ 4) (a), (b) 3R (d) T ¥

i n

J
Q1
Q1
—
6] ]



65. ‘Glass ceiling’ is a phenomena related to :

1)
2)
3)
(4)

(
(

—~

Solar energy conservation system
Inter - personal openness
Gender bias in career progression

Transparency in information sharing

66. Which of the following is not part of the recommendations of Indian Labour Conference on
‘rationalisation” ?

1)

There should be a cap on recruitment.

There should be no retrenchment or loss of earnings of the existing employees.

Workers could be provided with suitable alternative jobs in the same employment or
under the same employer, subject to agreement between employer and the workers.

There should be a proper workload assessment by an expert.

67. The Directive Principles of State Policy, as contained in Indian Constitution, contains various
Articles which has influenced the enactment of social and labour legislations. Match the
subject matters of the Directive Principles with the Article Numbers as given in List - I and
List - II respectively :

List - I List - II

(a) Promotion of Welfare of people by securing and (i)  Article 43
protecting effectively a social order in which
justice shall inform all institutions of national
life.

(b) Securing just and humane conditions of work (i) Article 41
and for maternity relief.

(c)  Securing living wage ensuring decent standard  (iii) Article 38(1)
of life.

(d) Within the limits of economic capacity, securing (iv) Article 42
right to work, education and public assistance
in case of unemployment, old age sickness
and disablement

Codes :
@@ (b) (o) (d)

O O @ @) @

@ (v @) @ 0

@) i) @) @ @)

@) G @) 0O @
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65. ‘T Hifen' Tk gfshen g, S s 9 fored Heifuq ®2

1)
(2)
()
4)

YR STl L&T0T g

& M RIESERCIGIRE! (3-89 A9T9)
Sterafa fomra & fef 92

1 | 3 H qREIa

66. frefafga # 9 = Afeasnieor’ (WHAARSYN) Tt YT 90 T¥8dq &) (gwifee s v 1=l

7?2
1)
(2)
3)

4)

ool R Tfehad T gt =feT |

foreraT HH=E] i Bl AU STk 3T H IS KT a1 ol dMed |

FTMR & T SR SR & o9 FIR & s1eaeia 35 i # steran 3ot feftean &
A 3Ug 1 Tz S =fed |

et faere gr0 U wqfaa & IR geais fhan s =nfeu |

67. RdE Giaum ¥ fod 73 w9 & Aifq fvs 9@ § ok et =ee wifthae § e wmifees aen M
fauri & sfufome @ ga@ 921 1 ge - 1H T3 M T & Afa fvs 9d@ & fawei =
T - 11 H o3 T Heifya sTg=se e & qre gafead S :

(1)
()
()
(4)

osss ]

Tt - 1 et - 11
T e sreen &1, foed = U Sfaq w1 () ATese 43
[ T 1 STIHTIVIG Y, TATTAT TR T Feh
Al HeAT hi ghg HEAT
FE H AEETd IR AHaEad qenetl w AR YgA (i) oIk 41
TR 1 YTl HLEAT
frate weiqt giafvaa wo @ifer fore sfeam =R (i) SA7=8s 38(1)
3u gifeaa & 9
aTfefeh wiferd ot TIetl & oTwta ST, gerd | (iv) AT 42
SR SR v 1 gl | W um,
T SR Tl HErEdl U SR

@@ (b) (9 (d)

® G (D) @)

(iv) (D) @) ()

(iif) (11) (i) (iv)
)

(iii (if)
HI I\I\I\H
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68. Social dialogue includes “all types of negotiations and consultations or simple exchanges of
information between/among representatives of the government, employers and workers on
issues of common interest relating to economic and social policies’. This meaning was
advanced by :

(1) The Indian Labour Conference.

(2) The Standing Labour Committee.

(3) The United Nations Organisation.

(4) The International Labour Organisation.

69. Which of the following statements about fatigue is/are right ?

(a) Fatigue is caused by the length of the work period.

(b) The speed of work contributes to fatigue.

(c)  The extent of muscles involved and the tension accompanying the task also are factors
responsible for causing fatigue.

(d) Individual differences in terms of the strength, stamina and preparation of the individual
has no bearing on the incidence of fatigue.

Codes :

(1) (a) and (b) are true. (2) (a), (b) and (d) are true.

(3) (@), (b), (c) and (d) are true. (4) (a), (b) and (c) are true.

70. A proposalis pending pertaining to amending the Present Factories Act, 1948. Which amongst
the following has not been included in the proposed amendment ?

(1) Changes in the present definition of factory by increasing the number of workers from
ten with the aid of power and twenty without the aid of power to twenty and forty
respectively.

(2) Incorporation of new clause under Section 35 A pertaining to provisions of personal
protective equipment for workers.

(3) Provision for preparation of Emergency plan and Disaster control measures.
Changes in the provisions of the Act relating to appointment of Welfare Officer.
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68.

69.

70.

qraTiten Farg | offdier aun wrttieh Aifaal o Hey § W fed & 9t YRR & qggl & aR |
R, HHARAT 9T HMR & GfaHe & s ardl agn WEst 1991 THRRI &1 9E
SCH-Y5H IMTHa B 1" I8 o fefafed o 9 fhaesh g/ 7qa fohan T g2

(1) YR o9 g e (2) Tl o gfafa

(3) HIH U €Y (4) ST g9 G

qHH (HT) & IR H Ffafed § @ FH-91 F97 98 8/8 ?
(a) UM HE FAfY F FROT A 7
(b) T A I TG FT U H AN B 7

(c) wigufyrn el # fFe w9 ke € qon el o foaes § a9 foRd €, 3 SR off g
& fora f9eR 2

(d) =afF Ht vl (K1), Feiteaal (RAT) a0 dafes Tt (FTRem) &1 96 &1 s |
IS IHE T g |

?:clg_d' :
(1) (a) 3R (b) W E1 2) (a), (b) 3R (d) =& T
3) (@), (b), (c) ¥R (d) WEl T 4)  (a), (b) 3R (c) W T

FAUH HRE SAfufam, 1948 H Geler 89 Tk w&E dfted g1 fFefafead ® 9 f6d 39 geafaa
Teies | wnfie 7@ R T g 2

(1) W % HeR Fo dfct HREM | HifHel i J0qE G&1 10 § e 20 hd gC o form
v & HWER Fe I HRETH H I8 T T IR 40 Fd gC HREM (Hael )t gieemn &
e

(2) TN % fau SAfRET &S TR & TE9H & Fae °R 35 TH T 14 @S hl
A KT

(3)  SARfEHS IS ATYer FiE U Y ARt % Hey | yae
(4) e S a1 Ffaa Gae Ifufrem & yaymH § 9fikedd

o-sst [ LRI .



71. Match the following “Expressions” and the ‘Ego states” given in List - I and List - IT respectively.

List - I List - II
Expressions Ego states
(a) Rationality (i) Parent
(b) Fantasizing () Adult
(c) Demonstrating (i) Child
Codes :
(@ () (9
1) @ @) @
2) @) @) ()
@) () ) (i)
4) @) G @

72.  Which of the following are the errors, an appraiser is likely to commit during performance
appraisal process ?

(a) Rigor Martis Syndrome

(b) Central Tendency

() Recency Vs. Primacy effect
(d) Halo effect

Codes :

(1) (@) ®Band© @ O, @and(d) (@) (@), (©and(d @ (a), (b) and (d)

73.  Which of the following statements relating to the Trade Unions Act, 1926 are correct ?
a

b

(a) The Act gives the definition of a trade union.
(b) There is a provision in the Act relating to decent work.
(c) There is a provision in the Act relating to the unfair labour practices.

(d) There is a provision in the Act relating to political fund.

Codes :
(1) (b) and (c) (2) (a) and (b) (3) (c) and (d) (4) (a) and (d)
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71.

72.

73.

1) (b)
osis || 1]

Tet - 17 & T st e 10 € e e 3 e e F1

T - 1 T -11
(a) THEm (wEfaE) (i) -f
(b) TrcAfEE (HHEET) (i) IR
(c) Tr&gu (feat=efem) (iti) =
e :

@@ (b) (o)
1) @) @) @)
(2) (@) @) ()
G) @ @) (i)
4) () @) ()

frefafed 5 & 9 sE-4 Ffeai € St w0 qeaiend gfwran & SRA fRet qeistendl g1 &
Tt § 7

() Tor TR Heamn (for 4y fagm)

(b) =i g (Hed <)

(c) TR oM Yrefta gure (RE=Hf oS arshdt s

(d) wfem gumE (Rl Thae)

< :

M @ @O @ ©),@IRE @) @ ©@©AG@ @ (@), @b FRQ)

TR ¥ Afufm, 1926 % 9N # fFreafafegd § & $H-9 U ¥&l & 2
(a) ¥E Afufag goigy T &1 aRfua #ar 71

(b) =T a9 | WS s 1 & Fa9 H qEH B

() =8 stfuftag & srfad o= gensti & Ty H wae™ 2|

) =T Nl | TsHifas w1 & Fag § g §

3 () (a) 3R (b) (3)  (c) ¥R (d) 4) (a) 3R (d)

(2)
T .




74. Which of the following statements about the post economic reforms in 1991, relating to creation
of a ‘safety net’ is/are true ?

(a) A National Renewal Fund (NRF) was created.
(b) The NRF was meant to provide financial support to the sick industries.

(c)  The NRF was primarily used to meet the expenditure on voluntary retirement schemes
implemented in the public sector undertakings.

(d) The NRF was created primarily for rehabilitation of workers through training and

retraining.
Codes :
(1) (b) and (d) only (2)  (c) and (d) only
(3) (@), (c) and (d) only (4) (a), (b) and (c) only

75. Which of the following are the worst forms of child labour, according to the ILO ?

(a) All forms of slavery or practices similar to slavery.
(b) Procuring or offering a child for prostitution or pornography.
(c)  Using, procuring or offering of a child for illicit activities such as trafficking.
(d) Work likely to harm the health, safety or morals of children.
Codes :
(I) Only (a) and (b) (2) Only (a) and (c)
(3) Only (b), (c) and (d) (4) (), (b), (c) and (d)
-00o0-
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74. Trefafed § @ FF- FoF e s’ (AR A2) & S & Hew § Ju 1991 H W AfAF R
FTd & 9N H WE 8/T ?

(a) Teh T Telteheor Y (T TR TH) 1 737 g1 o |

(b) TH AR TH & TSH 61 I T01 e kI Tociter Herar YSH w0 o1 |

(c) TA R T H1 ¥ T&Id: WAk &3 o SUhHI § (o Wfoeh YA AIsHl |
%I U HIAT 1|

(d) TH IR TE 1 TS J&Ad: TRI&T07 g1 TIHIeT0r §RI hIETRI o1 TIeTE AT o |

e :
1)
©)

75. fava sm €A (o1 @ o) & AR, frefafed § § 9 o1a 99 &1 9w 90 €9 72
(a) Gt YRR T TATH T2 AT & TG
(b) TN AT SATA Hifeed (FARMRT) o T fRet s=1 Sl U6 HTAT STa Gga HEAl
(c) T IR SIY T3 wEdharl & ford fhet I/=) 1 ITART, YTH HIAT 21276 3/ Uqd HEAl
() T HE o I % e, R AU THee hl ThEM g |

%?:
(1) e (a) 3R (b) (2) A (a) I (c)
(3) e (b), (c) ¥R (d) 4) (), (b), () R (d)

-00o0-
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